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x[n] X (z)

g[n] G(z)

A�
��� ����
 ax[n] + bg[n] aX (z) + bG(z)

+��
������ ��	 ����	 x[n− n0] z−n0

[
X (z) +

∑−1
m=−n0

x[m] z−m
]

x[n + n0] zn0

[
X (z)−

∑n0−1
m=0 x[m] z−m

]
C���� (�� ��	 z, ������	 ejΩ0n x[n] X (e−jΩ0 z)

zn
0 x[n] X ( z

z0
)

αn z[n] X (α−1 z)

/�	�� & 
�
���	)& x[−n] X (z−1)

.�
��	�& x(k)[n] X (zk)

$�����
 x∗[n] X ∗(z∗)

$�����#� x[n] = g[n] ≡ 0 ��
 n <

0

(x ∗ g)[n] X (z) G(z)

-���� ��
)	�� x[n]− x[n− 1] (1− z−1) X (z)− x[−1]

-
�
������ ��	 z, ������	 n x[n] −z
dX (z)

dz
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∑n

k=0 x[k] 1
1− z−1X (z)
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x[0] = lim
z→∞
X (z)


